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Test 1

Part I Listening Comprehension

Section A Conersations
Directions: In this section, you will hear 10 short conversations. At the end
of each conversation , a question will be asked about what was said. Both the
conversation and the question will be spoken only once. After each question
there will be a pause. During the pause, you must read the four choices
marked A), B), C) and D), and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through
the center.
Example: You will hear:

You will read:

A.2 hours B.3 hours C. 4 hours D.5 hours

From the conversation we know that the two were talking about some

work they will start at 9 o’ clock in the morning and have to finish at 2 in
the afternoon. Therefore, D)5 hours” is the correct answer. You should
choose (D) on the answer sheet and mark it with a single line through the

center.
Sample Answer (A) (B) (C) B
1. A. One hour B. Two hours C. Three hours D. Four hours
2. A. He enjoys playing chess B. He hates playing chess
C. He cannot play chess D. He was not a good student

3. A. The weatherman is usually accurate in his forecast.

B. The weatherman is usually inaccurate in his forecast.

C. It will be sunny all day.

D. It will be raining all day.
4.A.10 B.11 C.12 D.13
5.A.He doesn’t have to. B. He’s sick.



C. His boss doesn’t want him to. D.He’s going to play golf.
6. A. It will take about one month to repair the watch.
B. The woman should have saved more money.
C. It is a good idea to keep the old watch.
D. The watch is no longer worth repairing.
7. A. Families with cars
B. American’s heavy dependence on cars
C. Roads and highways
D. Traffic problems in America
8. A. Her teaching assistant would grade the exam papers.
B. She would collect the exam papers herself.
C. She would mark the exam papers herself.
D. She wouldn’t give her students an exam.
9. A. She could help him with the problems.-
B. He should go out for a while.
C. She could go out together with him.
D. He should do the problems himself.
10. A. The first house they saw is too expensive.
B. They may save some money for the time being.
C. She is happy with the price set by the seller.
D. Less money will be spent in maintaining the house.

Section B Compound Dictation

Directions: In this section, you will hear a passage three times. During the

first reading , you should listen carefully for a general idea of the whole pas-

sage. Then listen to the passage again. When the first part of the passage is
e e S

being read . you should fill in the missing word during the pause ar each

blank . After listening to the second part of the passage you are required to

write down the main points according to what you have just heard. Finally,

when the passage is read the third time you can check what you have written .
On clear nights, people have always looked at the stars and planets,
and (11) , “What is it like up there? Is anybody out

2.



there? Are we the only ones?” We still don’t know the answers to all these

questions, but I (12) to believe there is intelligent life
on some other planets.

It is generally (13) that intelligent life doesn’ t exist
on other planets because there is not (14) oxygen for it
to breathe, nor proper atmospheric (15) for it to
survive. However, the universe is (16) _ and there are

many unknown matters still undiscovered by our explorations. There proba-
bly exist some planets which do have (17) living condi-
tions but haven’t yet become known to human beings.

Furthermore, (18) , just as many living things need
oxygen but trees just breathe carbon dioxide.

Besides, (19)

There are too many mysteries about the universe we are living in.
Maybe (20)

Part II Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each sentence
there are four choices marked A, B, Cand D. Choose the ONE answer that
best completes the sentence.

21. The candidate must comply all the requirements set by the uni-
versity.
A.by B.of €. with D.on

22.1f 1 had remembered the window, the thief would not have
got in.
A.have closed B.to close C. closing D. to have closed

23. People become less to new idgas as they grow older.
A. receptive B. available C. héspitable™ D. attractive

24.The graduate students prefers writing a term paper to an ex-
amination.
A.have taken  B.take C.having taken  D. taking

25. His answer was so confused that I could hardly make any of it

I



26.

27.

28,

29.

30

31.

32.

33.
34.

35.

at all.

A.interpretation B. meaning C.intelligibility = D.sense

John gained the _______ from his speculations to acquire land for his
family.

A. profits B. provisions C. purchases D. protections
Tom is one of these people who always triesto ___ himself to those
he considered to be important. ‘

A. comment B. cor;irr}cnd C. comfort D. command

The middle-aged man once 'was a — . secretary to the governor.
A. confided . B. confidential C. confiding D. confident:fﬂ B

In ordér to buy his house he had to obtain a large from a
bank.

A.loan B. finance C. capital D. debt
.Don’t get discouraged by failure, we are strange to the work

A.in all B.at all C.for all ’ D. after all

No matter how frequently » the works of Beethoven always at-
tract large audiences.

A. performing 'B. performed

C. to be performed D. being performed

Turn on the television or open a magazine and you advertise-
ment showing happy, balanced families.

A. are often seeing B. often see

C. will often see D. have often seen

You will want two trees about ten’feet apart, from to suspend
your tent.

A. there B.them -C. which D. where

I walked too much yesterday and are still aching now.

A.my leg’s muscles B. my muscles of leg

.C. my leg muscles D. my muscles of the leg

The student was just about to the question, when suddenly he

found the answer.
A. arrived at B. submit to C. work out D. give up
4 .



36. This ticket you to a free meal in our new restaurant.

A. gives B. grants L. entitles D. credits
37.Mary wasso________in her job that she didn’t hear anybody knocking
at the door.
A. attracted B. absorbed C.drawn D. concentrated
38. The manager needs an assistant that he can _______ to take care of
problems in his absence.
A.count on B. count in C. count up D. count out
39.They took _______ measures to prevent poisonous gases from escaping.
A. fruitful B. beneficial C. valid D. effective
40.1t is quite necessary for a qualified teacher to have gobd manners and
knowledge.
. A. extensive B. expansive C.intensive C. expensive
41.1In our home, it is a(n) rule to wash one’s hands before
eating.
A. innocent B. universal C. rot&h D. rigid
42. They have put their furniture in N
A. staircase B. stocking C.case D. storage
43.1 caught a of the car before it disappeared around the bend.
A.glance B. glimpse C.look D. signal

44.The travels of Marco Polo in the twelfth century would not have been so
well known for the book he wrote while in jail.

A. it not have been B.is not been
C. had it not been D. has not been
45. the reactions of people with amnesia, scientists are learning
more about the process of memory in the brain.
A. By studying B. To study
C. They study D. They’ re studying
46. The wounded man lay there » With no one to help him.
A.glaring B. grabbing C. groaning D. gambling
47.The old lady went nearly mad with after the child died.
A. grieve B. grief C. trouble D. anxiety
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48. The kind lady had manners and made us all feel immediately at

home. «
A. gracibus B. grateful C. graceful D. gratitude
49.The island far away from the mainland is a favorite of birds.
A.dweller B. haunt C.client D. trap
50. His parents’ encouragement Tom’s confidence that he would
succeed.

A. hastened B. produced C. heightened D. doubted

Part [l Reading Comprehension

Directions: There are 4 passages in this part. Each passage is followed by
some questions or unfinished statements. For each of them there are four
choices marked A, B, Cand D. You should decide on the best choice.
Questions 51 — 55 are based on the following passage:

When concerned parents protest the excessive sex or violence on televi-
sion, they often seek control of television from some outside agency. Our
research, however, suggests that the most effective control of TV’s influ-
ence on children can be exerted from within the home.

We have found that there is major obstacle that parents need to over-
come in connection with TV viewing. Surprisingly enough, we are going to
advocate that parents act rudely — at least as far as the TV set is concerned.
Most of us have been socialized all our lives with the warning. “Don’t in-
terrupt when someone else is speaking. " Yet our ancestors never imagined a
mechanical visitor sitting in the middle of our home who talks without stop
and never allows the listener an opportunity to put a word in edgewise.

71)During our research, we found upon questioning parents that they

usually reacted to TV content they disliked or disagreed with by remaining

silent. This brings to mind an old saying that parents might well be advised
to consider. “Silence gives consent.”
72)We advocate loud reactions and exclamations of pproval when

something is presented on TV which is in opposition to the family’s values

or offends them in any way. Similarly, when a program is in accordance
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with the family’s views, parents should approve of its content— and ap-
V ploud loudly. There is much that Shakespearean audiences of old could
teach us all in regard to such spontaneous, public reactions. Silence is mis-
leading to our children.

This process of direct intervention — vocal approval or disapproval of
TV content - is highly effective with young children, because they are curi-
ous, learning rapidly, and ready to place a great deal of confidence in the
information and attitudes of their parents and other significant adults, such
as teachers. For teenagers, indirect intervention is recommended, because
this group is more resistant to adult statements and does not like to be “lec-
tured”. Indirect intervention is the practice of making comments about TV
to other members of the family, but in such a way that the teenager is sure
to overhear the comments.

Our research shows that through such parental comments of approval
or disapproval, adults can dramatically influence the information their chil-
dren receive and retain from watching TV.

51. With which of the following topics is the passage maitnly concerned?
A. Research on TV influence
B. Sex and Violence on TV
C.Parénts’ protest against sex and violence on TV
1:). Control of TV influence on children
52. Common reactions of parents to bad TV content are
A.rude 1.3 silent C.excessive ~ D.warning
53. The passage implies that the audiences in Shakespearean time
A. were easy to be satisfied
B. were uncritical but loud
Sl. were critical and loud
D. were critical but silent
54. Indirect intervention works best with
A. young children B. adults
C.all the members in the family D. teenagers
55. The most effective way to influence the information children retain
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from watching TV is

A. criticizing bad programs

B. recommending good programs

C. choosing programs for children

l'). proper intervention
Questions 56 — 60 are based on the following passage:

Why do some new products succeed, bringing millions of dollars to in-
novating companies, while others fail, often with great losses? The answer
is not simple, and certainly we cannot say that “good” products succeed
while “bad” products fail. Many products that function well and seem to
meet consumer needs have fallen by the wayside. 73)Sometimes, virtually

identical products exist in the market at the same time with one emerging as
profitable while the other fails. McNeal Laboratories’ Tylenol has become
successful as an aspirin substitute, yet Bristol-Meyers entered the test mar-

ket at about the same time with Neotrend, also a substitute for aspirin,
which quickly failed.

The nature of the product is a factor in its success or failure, but the
important point is the consumer’s perception of the products need-satisfying
capability. Any new product conception should be aimed at meeting a cus-
tomer need, and the introductory promotion should seek to communicate
that need-satisfying quality and motivate the customer to try the product.
Often, attitude change is involved, and, in the extreme, changes in life-
style may be sought. A

Here the company walks a tightrope. A new product is more likely to
be successful if it represents a truly novel way of solving a custo:er
problem: but this very newness, if carried too far, may ask the customer to
learn new behavior patterns. 74)The cuétomer will make the change if the

perceived benefit is sufficient, but inertia (18 1) is strong and consumers
will often not go to the effort that is required. During the late sixties and
early seventies Bristol-Meyers met with new product failures that exemplify

both of these problems. In 1967 and 1968 the company entered the market
with a $ 5 million advertising campaign for Fact toothpaste, and an $ 11
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